(Pwuzw Soluwzq regualiby

;, Solve {:ﬂmpb\ |

B A1 7 @ 5-3X >I7

® S-x37 @ +x<-3

@ (3% -1 y5(x-2) ” @ 3-a(x+1) ¢ A+ + 3%
Scloe 2ach

@ |x-i| 24 @ |3-ax|>s

@ ['év("l[‘—‘-b S[x+i| -4 =(

Roloe & chack, %
@ [Bx+1] =dx% ® [bx-a| ~4x-+

Wide tha waua_&k« ﬂazLCUwe&pmdr fo the qma&

@ + t } > @ & : + —

‘ ~1 O -¥ -6 -5

o , .

@ \L t “ > @ \L t ‘l ) J ; .



- Deliwie a varials . Wrde am imequadds, Solue .
0 %mm Con Cartrafe S A& muleg f)—w&wm m 7%
L Ciky. Hha ackual Mdease vowris fromthe
averoge lovy od-mot dnules purgallm. wrie
onn abgctote valu wequeddy Hakshaws the

n o the mulsage fen wown cax. Scloe Ha magu
hwﬂa;d) e wwv@&vﬁga?mhag. i

D) X3 ) Xe-d

h———q 4____'6
A | Joy o 4
< h v N

; —
5 3 o -5 -4 -3

Cn Xt-a W) Xe=%

é——————e ‘—5_6

~3 =3 ~I 7 f’IO_ "9 ~8

H X>-8 @ Xy 'k |
. ‘P——“ ———— , c. k3

Lt o &y . — -

-9 ¢ -z = "B g

P "Rexe 5 e Xe-l on X3y

B X=-4,% 1 X=-2 |



Y ¢ (nuHu. x=-1 o x=-Y% chacks cub)
B @ roitoe x=~ o % = ¥s ks oub)

15 X <0 W X% -7
s —{exey 6y X&l o X >3

1) ek x = adveld gas muuage
| x-as| &4
solubum = 24 &£ X £ 32

¥ Coon Quercges hettoen 24 £3a Mﬂspwgaﬂmq



